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Topic:- Physics

1) What are the dimension of latent heat: /& ST &7 farta g &:
1. MLT? T-2

2. ML™2T2

3. MOLT?

4, MOL2 T2

Correct Answer :-

. MOL2 T2

2) The unit of impulse is the same as that of:/&ﬁﬂﬂmmﬂ?m%:
1. Moment of force/dd Bﬂqpf

2. Linear momentum/ &g a1l

3. Rate of change of linear momentum/ [T TaT & gRad- &1 a3

4. Force/dd

Correct Answer :-

« Linear momentum,/ &g Tai

-

__,

and the value of and are 13 12 and 5 respectively, then the angle

between A and C will be:/ afeA=FB + Caqur & Béﬁ?ciﬂﬂ'ﬁl3 12 3R 5 HU: %?h-"'*sﬁ'\rcé?
&= &1 BT gH:

- —p
AB



5
1 _1 _
M (13)
Correct Answer :-

5
-1 =
. (13)

4) Ther rocket works on the principle of:RTPpe fpy Rgidw T BT %:
1. Conservation of energy/@@i & TG &
2. Conservation of mass/Go0HT & TR&UT &

3. Conservation of linear momentum/i@’q FlaT[ % TRE %
4. Conservation of angular momentum/& 10T FaTT o TRETT &

Correct Answer :-

e Conservation of linear momentum/i_@'q A & & &

5) The angular momentum of a body is conserved, if the acting:/mﬁ fyus &1
Sy T R Tgar ? afe 39 W erder:

1. Force is zero/&?ﬂﬁ?ﬁ

2. Torque is zero/dd &ﬁq;UTQEEﬁ
3. Force is constant/ & fFad &

4. Torque is constant/Sd 3{TgUl f7d g
Correct Answer :-

« Torque is zero/dd &FFQPTQE_E?T

6) The work done in stretching a spring of force constant k from length I, to I,

is: /it fBRT 31 darg 1, I 1, Fiaex F & R e a1 w1t g afe 9@ Fraais k g:
1. k(lzz - 112}

1 .
“k(12 12
Skl —1)

2,

3. k(ly —Iy)
k

4.2(l + 1)

Correct Answer :-



7) The escape velocity of an planet is V. If the radius of planet is same but its
mass increased 4 times then its escape velocity will be:/@‘;l‘s’q'\'qﬁmaﬂve
21 afe 98 Ft o gume 37 3R ITST SHT AR 1 g1 I Iara- av g) SIa:

1.4V,
2.2V,

3.

<
o

B |

Ve

Correct Answer :-

8) The partical value poission ratio is possible: /Urad- fsufx1 &1 saggR # JHg
T 3:

1.0.4
2.-5
3. Greater than 0.5/0.5 9 3{f¥&

4. Zero/[T

Correct Answer :-

- 04

9) The unit of surface energy is: /Y53 Sl &I AHS §:
1. Joule/ 1

2. JouIe/meterz/ Gljf/IﬁETz

3. Newton/<Jc+

4. Newton-meter2/7CIc\E_rrJ:ﬁET2

Correct Answer :-

« Joule/meter?/ GLET/IﬂHZ



The 52°F temperature equivalence in 0cC is:/ 520F 919 &1 49 Oc H g
1.11.11°C

2.13.16°C

3.52°C

4.00C

Correct Answer :-

« 11.11°C

11) In a solid per atomic mean energy is: /39 § Ufd TRATY] ATSH SHell gidl B:

3.2
4. kT

Correct Answer :-

31'.:T
o 2

12) In steady state the temperature of cross section area of a rod, changes

with time: /R ARy # B8 & foredt off ufvsde &1 a1mu, 9w & 9ry:
1. Decreased/‘EIET-IT%
2. Increased/m%

3. Remain same/3URkafdd gdl g

4. Firstly decreased then increased/Ugd gedl g R SSd1 8

Correct Answer :-

« Remain same/3uRafdd J|ar g

13) In simple harmonic motion total energy of a particle is proportional to:/

A 3Tad T B §U BT Bt HYUT Sell SIhHATIUTT Sl &:
1. Frequency of oscillation/aIeH! &1 &Hqﬁ-I%
2. Maximum velocity speed/ TIfd & 3ifi@dd a7 &



3. Amplitude/Tfd & 3MAH &

4. Square of amplitudes/3TTH & T &

Correct Answer :-

. Square of amplitudes/3MH & a1 &

14) Medium in progressive wave: /WITHI 9370 # ATEH &:

1. Different particle have different phase/f5= Ul &1 &all fi= gl 8
2. All particle have same phase/ﬂﬂ-ﬁmﬁﬁmw@?ﬂ%

3. All particle vibrates in differently at any time/g4t & o1 fordft off &o1 FU=-f< TR @ oA
FA

4. Particle not transferred energy/oUI, Foll BT RIFTARU T8] HRd &

Correct Answer :-

« Different particle have different phase/ﬁ-ﬂWHﬁWﬁ-ﬂ%ﬁ?ﬁ%

15) The wave equation of wave isy = 5 €5 T

second. The wavelength of wave is: /T T3 BT JHIHIU y = 3cos (100t - x) g T8l y 3R x 9t
T quT t Ybs A 31 T ot e 3:

1.2 cm/2 I+t

(100t - x) whereyand xisincmand tis in

2.3 cm/3 9t
3.5cm/5 I+
4.100 cm/100 9Ht

Correct Answer :-

. 2cm/2 9H!

16) The angle of a prism is 5° and its refractive indices for red and violet
colours are 1.5 and 1.6 respectively. The angular dispersion produced by the

prism is: /T fIH BT ST 50 TUT IHPT YA ard 3R 9T T & e HA: 1.5 3R
1.6 g, s g1 I SIvity faagor ghm:

1. 7.75°
2.5°
3.0.59

4.0.17°



Correct Answer :-

. 050

17) The wavelength of visible light are between: /g4 UBTR I ?R"lﬁ'?ﬁ, & dH= gidt

q:

1. 3000 pm to 0.4 um/3000 um ¥ 0.4 um
2. 0.4 um to 0.7 pm/0.4 um ¥ 0.7 ym
3.0.7 ym to 1000 pm/0.7 pm I 1000 pm

4.0.1 cm to 30 cm/0.1 I T 30 IHY

Correct Answer :-

« 0.4pumto 0.7 pm/0.4 um ¥ 0.7 pm

18) In Young's experiment if the light is not perfectly monochromatic then:/

1 3 T & ) yerer qufa: Tesuita 7 @ A

1. Intensity of centre fringe reduced/&-<1d fthol &1 TH® HH gl SN
2. Brightness of bright fringes reduced/dIw fIFSil & TH® &H 8 SN
3. Dark fringe is not more dark/&mﬁﬁmaﬂ?ﬁ‘eﬁ?ﬁ%

4. None of these/3H ¥ &g 8!

Correct Answer :-

« Brightness of bright fringes reduced/aIw fiholl &1 TH® HH gl ST

19) The image formed by concave mirror may not be find on screen while

object: /3[aad gUUr § g+ Ufdfad P U W U el B TPhd SIaid aeg:

1. Placed between pole and focus/ﬂa‘q'tlﬁﬂ%aﬁ?rﬁ

2. Placed between focus and radius of curvature/®Hi®d 3R Ihdl & & o1d gl
3. Placed between centre and infinite/&% 3R 3= & &4 g1

4. Placed on radius of cuwature/mﬁwﬁf

Correct Answer :-

« Placed between pole and focus/ga'am%aﬂ?rﬁ

20) Images formed by a convex spherical mirror is: /f&l 3= ey U gIRT
94T 747 fafdq gm:



1. Virtual/®Tedi—®
2. Real/ardfd®
3. Enlarged/dgd Je<l

4. Inverted/3c<l

Correct Answer :-

. Virtual/®TcdH®

21) In a telescope the focal length of objective lens and eye piece lens is F and
f. The magnifying power of telescope will be:/T® ¥Rl & Sifiea® ok Af®T #t
WIod gRAT F 3R f 81 gl @t smaed= amar grft:

LF+f

2.F-f

=T T

T .

4.

Correct Answer :-
F
f

S000A of S000A 3

22) a photon have wavelength then its energy will be:/T® WHIalq &T diT &

ITBT St gl

1.4 x 1012 Joule/Sa
2.4 x 10716 Joule/S[d
3.6 x 1014 Joule/Sd
4.8 x 1071° Joule/S[a

Correct Answer :-

« 4% 107 Joule/Sd

23) Invisible light the photon energy associated with maximum wavelength

will be: /T YHT H AfRGdH aTeH & TId Wi Bt SHoll gid! g
1.1eV

2.1.6 eV



3.3.1eV
4,7 eV

Correct Answer :-

e« 16V

24) A galvanometer is converted into an ammeter when we connect a: /T%

TedHer &1 3rfier # gear oI IHdl @ od gH Sisd 8
1. High resistance in series/3<d ufaRiy &1 goff |

2. High resistance in parallel/ﬁuﬁﬁﬂﬁﬂﬂiﬂ?ﬁ

3. Low resistance in series/ &H UlcRIY &1 90ft o

4. Low resistance in parallel/ $Y UleRIY &I JHIR |

Correct Answer :-

« Low resistance in parallel/ FY UleRIY BT JHIR H

25) The resistively of a wire: /dR $1 UfaRIYHdT:

1. Varies with its length/daTs & 1Y Sl §

2. Varies with its cross section/WW%‘v’lWW’cﬁ%

3. Varies with its mass/ScdH & IT1Y Iaedl §

4. Does not depend on its length, cross section and mass/?iﬁ]‘sc, STUR] hIc 3R oI IR
frR T sxar g

Correct Answer :-

« Does not depend on its length, cross section and mass/FiEITs‘, STUR| BT 3R ST TR
R T sxar g

26) The unit of magnetic field is:/Ga®T &F T AP g:

1. Newton/<Jcq
2. Newton-meter/?’E:[-ﬂIEQ

3. Newton-meter?/~-Hiex?
4. Newton/amp-meter/ g+ /ﬁffﬁl?ﬂ—ﬂlaq

Correct Answer :-

« Newton/amp-meter/ g+ /Qﬁlﬂ?—rﬂﬁ?



27) Number of electron in 1 coulomb charge: /U® $aATH AT H SAGCII DI TSAT BT
|1 g 3

1. 5.46 x 10%°
2.6.25 x 10'8
3.1.6 x 10719

4.1.76 x 107!

Correct Answer :-

. 625x 10'®

28) Electrical conductivity of semiconductor:/3dra® ¥ fagad araedr ST
1. Decrease with increased in temperature/did §¢ & 1Y gedl §

2. Increased with increase in temperature/ﬁﬂﬂ@ﬁ%ﬂﬂaﬁ%

3. No change with increase in temperature/?ﬂ'tfEE?HZR=IBETE|3T*1?1DI%r

4. Firstly increase then decrease with increase in temperature/drd 9+ & 914 Ugd 9¢al &
R gt 8

Correct Answer :-

« Increased with increase in temperature/amaﬁgefaiwilaﬁfcﬁ%

29) Total electric flux coming out of a unit positive charge put in air is: /TP

AT B! aTg T WA R 39 fdwe arat o fagad were ghm:

1, B0

=N
3, (4mgg) 71

4 47 €

Correct Answer :-

2

30) The electric intensity at a point 20cm away from a charge of “ x 10°5 C is:/ 2 x 10°3 C 3max

¥ 20 9+t g8t R fagaa &= 1 dear gift:

1.4.5 x 10° N/C



2.3.5% 10° N/C
3.3.5 x 10° N/C

4.4.5 x 10°N/C

Correct Answer :-
« 4.5 x 10°N/C

31) A sheet of aluminium foil of negligible thickness is introduced between the
plates of capacitor. The capacitance of the capacitor: /T T[T & HgH
e foeft Tenfa Y el & drad v & ardt € 9t Safya # durfear:

1. Remains unchanged, 3fafafdd &
2. Becomes infinite/ 3+~ Q%Jil
3. Increase/al‘c;ﬁ]?ﬂ%r

4. Decreases/dYc STl %

Correct Answer :-

« Remains unchanged;3maftafda gl

32) Kirchhoff's first law, i.e. L1=0 at junction, deals with conservation of:/ﬂ'ﬁr R fHarg &1
e P 21 = 0 Ry weror o) axifan

1. Charge/&ﬂa‘-ﬂ
2. Energy/&o
3. Momentum/JaT

4. Angular momentum/aﬂ'ﬂﬂﬁ“v'ia"'[

Correct Answer :-

« Charge/3MaYl

33) The resistances of a material increases with temperature. It is: /T® et

Rt yfaRIY 19 % 919 9¢dT & 98 &:
1. Metal/41q

2. Insulator/$dIcidh
3. Semiconductor/&m

4. Semi metal/39YUTq



Correct Answer :-

« Metal/41q

34) The resistance of conductor is 5 ohm at 50°C and 6 ohm at 100°C. Its
resistance at 0°C is:/ o TT® & YfaRIUSdT 50°C W 5 3H 9T 100°C W 6 3T g ol
00C R 39! ufauedr gifi:

1.1 ohm/1 3
2. 2ohm/2 3H
3.3 ohm/3 3H
4.4 ohm/4 3|

Correct Answer :-

« 40hm/4 3|

35) If the current in an bulb drops by 1% the power decreased by:/df¢ f&dt gea
# 4T # fiRTae 1% ot wfew & &+ gft:

1. 1%
2. 2%
3.4%

4. 0.5%

Correct Answer :-

36) Approximately how many calories of heat will be genertaed ina 210 W

electric bulb in 5 minutes:/ 210 W & fagad e & 5 fire & @ feast dat St
I sl

1. 15000
2. 1050
3. 63000

4. 80000

Correct Answer :-

- 15000



37) Force acting between two long straight parallel current carrying wire is F. If
the current in one of them is doubled the force between them will be:/ff AR

YRT yaTed aRi & ued F fiparsiia g, afe et v ar o« &1 9= g o e srd &
I o BT g I

1.2F

J
\'EF

_
3.2V2F
4. 4F

Correct Answer :-

« 2F

38) In a moving coil galvanometer the current ‘i’ is related to the deflection 0 as:/ T&® DIGLEIE]

PUSHT Ta-eR & URT ' &1 9 faguor o J Heiftr 3:
1.1“5

2. ictan 8

3 iag?

4.icnu’ﬁ

Correct Answer :-

39) Magnetic lines of force: /ga®Id g v@IU:
1. Always intersect/gHTN Ufdesg Hi &
2. Are always closed/gHTI & g &

3. Tends to crowd far away from the poles of magnet/W% ﬂﬁﬁ%ﬂ?ﬂ@ﬁﬁﬁm
Bl &

4. Do not pass through vacuum/ﬁﬁﬁﬁmﬂ'ﬁmﬂ?ﬁﬁ

Correct Answer :-

. Are always closed/gHer 8¢ & §

40) If a current is passed in a spring it:/9f¢ T fRAT # YRT yarfgd & S 8 ot
1. Get compressed/a_d\_xlrcﬁ%
2. Get expanded/Thd SITdt §



3. Oscillates/aleH Hct o
4. Remain unchanged, 31af¥afdd Igdt 8

Correct Answer :-

. Get compressed/gd SIdl 8

41) Powerful permanent magnet will be made by:/mwwmﬁﬁ
Cf

1. Cobalt/®IaTee ¥
2. Tin coal/fcAdIa g
3. Cobalt steel/®Ialee T I

4. Aluminium/ TegHiag &
Correct Answer :-

« Tin coal/fcA®Had

42) Magnetic susceptibility for water is: /Ul & fo7¢ ge@ i ugfi &:
1. Zero/[H

2. Small positive number/SId! 8- &

3. Small negative number/ BIC! BT I

4. Big negative number/ss! 0T AT

Correct Answer :-

« Small negative number/ BIcT F0T T

43) Lenz’'s law is conservation of following: /a4 @1 forad fo=1 TReror @1 ufyony 3:
1. Impulse/GiTa?lT

2. Momentum/lﬁl’f{

3. Mass/ gcgHI

4. Energy/3ull

Correct Answer :-

« Energy/3vl



A coil has inductance 100 uH and current passes from it change by 1A in 0.1sec. The emf induced

in the coil is:/T® FUsH! o1 e 100 M 3 508 @ yarfRd unt 1A WRaffa S @ 2 0.1 Ybs F
PpUsdl d IO fa.ar.9d grm:

1.1 mV
2.1 Hy
3.10 mV

4.0.1 mV

Correct Answer :-

e 1 mV

45) The root mean square value of the alternative current is equal:/ﬂ?ﬂﬁ?ﬁ

YR & f wf T q@ w1 AT 8
1. One fourth the peak value/3=dH A HT AU

2. Half the peak value/ S=IdH HIH &I 31T

16

)

{1

1

3. (‘5) times the peak value / 3=Idd T &I (‘f'
V2. V2

4. times the mean value / H¥ HIH &I ¥ = I[AT

Correct Answer :-

1 1
. (‘5) times the peak value / 3=add U &1 (ﬁ)

E =8sin wt+6sin 20t o4 i /fy.ar.9a 3t of wrer @

46) The rms value of the emf given by

Hﬁﬁ'ﬂT%E = 8s5in w4+ 65in Emtm%:

3.10v

4 1042 v

Correct Answer :-

47) The angle of the prism is 30°. The rays incident at 60° at one refracting
face and produce a deviation of 30°. The angle of emergence is: /U & U7 300



¢ gfe 3P TP Jag W 3ATufad AT &Y BT 60° 7 fTHP BIRT 300 &1 fIme SU— g1 &
al forfa @ror &1 |1 g

1. 00

2.300
3. 600
4. 900

Correct Answer :-

. 00

48) A raindrop of radius r falls from a certain height ‘h’ above the ground. The
work done by the gravitational force is proportional to: /9T &1 Qﬁ?iﬁ'm
a1 r 8 3R S ST13 h A T18s R AR 2 oty 9a g1 fovan war s srgureht e

1.r

49) In two dimensional motion the path of object moving with uniform

velocity is:/fgfaria nfy ¥ ve gum nfa | nfe=ia axg &1 arf gar @:
1. Zig - zag/d$1a

2. Circular/qﬁl?il

3. Parabolic/URddATH R

4. Straight line/IRd X&1g

Correct Answer :-

« Straight line/dRd Y@

l

-

50) Relation between angular velocity " and linear velocity * is:/®ofia 31 ¥ qur ¥dg an ¥ &
TdY &

-+ — =
V= W.r
1.



Topic:- Chemistry

1) Which is the correct order of Hydrolysis:/ Sd@ 3[Uge &I Agl HH 2
1. NF3 > NCl3 > NBr3 > NI3

2. BiF3 > BiCl3 > BiBr3 > Bil3

3. NCl3 < PCl3 < AsBr3 < SbCl3

4. SiX4 > GeX4 > SnXy > CX4

Correct Answer :-
o SiX4 > GeXy > SnXgq > CXy

2) Which of the following order of ionization energy is not correct:/ = feg m

T Soit & 5 A B FE TE 2
1. Lt > He
2.H>Cl
3.F > Xe

4.0 > 0,

Correct Answer :-

3) Correct order of allotropism is:/3MUR=UdT &1 AE! HH &:
1.Si > C > Sn
2.N>P > As

3.C>Si > Ge

4. None of these/s_“rff | ?ﬁ'sc:ﬁof



Correct Answer :-
e« C>5Sj>Ge

4) The IUPAC name of the compound is:/ Tfil% &1 IUPAC ATH 8:

Cl
0 -

=

Nl

1. Ethane dicarbony! chloride/ T3H S5 1ald GARISS
2. 1,2-Dichloro ethane dione/ 1,2-SEaaRI VI S$3i=

3. 1,2-Dichloro ethane dial/ 1,2-SsadR! B3 SRUA
4. Ethane dioy! chloride/ B39 S53{10d R3S

Correct Answer :-

« Ethane dioyl chloride/ 334 SE310d dARIZS

5 one. M50 ;
) CH,~ CH;~CH- CH,——> (A)
OH

Major product (A) will be:/ 31 3dTg (A) g1
1. CH3~CH,-CH=CH,

CH H
~c=c"

-~ ™(CH,
5 H :
CH, (f CH.
3, CH,

CH, .
"\-\_C =C,-"CH__

H -~ ~H
4.

Correct Answer :-

CH H
~c=c"
H~ ™~CH,

6) OH
@ CCLKOH_y Ay _CHLOKO o by

(B) will be:/(B) 8N



1. Salol/¥dd

2. Aspirin/TRERH

3. Oil of Wintergreen/ﬁ?Tiﬂ:TWaﬂ
4. DDT/ SISIdt

Correct Answer :-

« Aspirin/TRRH

7) Which is not correct statement about aniline?/ Qﬁ?ﬂ?%ﬁ’lﬁﬂ*ﬁ?—ﬁ HWF-TH'Eﬂ
T8 82

1. Aniline gives litmus test/ TfReA feeay gdteror <ar g
2. It can be steam distillated/ ST HTUY 3G fobaT STd1 &

3. It is primary amine/tl‘ﬁ’mtmﬂtﬂ?%‘
4. Tt is more basic than acetanilide/ Ig TRIc-dTss ¥ 31f® &I &

Correct Answer :-

« Aniline gives litmus test/‘;fﬁ?ﬂ?ﬁ'lmtlﬁ&maﬂ%

8) What is AE for a system that does 500 cal of work on the surroundings
when 300 cal of heat are absorbed by the system?/ S 300 cal 3T 3 gRT
UGUT B SATdL § a1 I8 IRI 3R 500 cal T Har 82 F & fC AE 82

1. =200 cal

2. +200 cal

3. +700 cal

4, =700 cal

Correct Answer :-

« =200 cal

9) For a hypothetical reaction:/ W?ﬂwﬁiﬁ 3rfuforar:
2A(9) + 3B(g) — A2B>(9)

AH° = -x J. Which of the following expression can help in calculation of

AS°:/ TH HIedi-1h fHTpr:
2A(9g) + 3B(g) — AzB>(9)

P fIU AH° = —x J 31 /T & O P91 ol AS© BT AT JTd $IA A AEE Bl 8



Sa.z, =S8 —Sa

2.-x - TAG

—X—AG®
3. 298

+X —AG
4 293

Correct Answer :-

—X—AG"®
. 2938

10) The molal elevation constant of water = 0.52 K molality'l. The boiling
point of 1.0 molal aqueous KCI solution (assuming complete dissociation of

KCI), should be:/ U &1 Hidd 3999 fRRTE = 0.52 K molality™! g1 1.0 Hidd KCI &
weitg faea @ f% Kel &1 guf faais= giar 8), &1 Sy ghm:

1. 100.520C
2. 101.04%C
3. 99.480C

4. 98.96°C

Correct Answer :-

« 101.049C

11) Which elements out of the following can exhibit a maximum covalency of

seven?/ 9 & @ ST d@ SIfUBTH ATd gHAISTHdT USRIT B JhdT 82
1. Cl
2.S

3.F

4. None of these/378 q ®Is gl

Correct Answer :-

- Cl

12) Sodium reacts with excess of oxygen to form:/ JIfS$aH STRIeH & Tfeaa |
fufspar &= g-Tar 3:

1. NaZO



2. NaOy
3. Na202
4. NaO

Correct Answer :-

. Na202

13) Chile saltpetre is:/ frefl Orecdie? 8:
1. NaNO3

2. KNO3

3. NaZSO4

4. NayS;03

Correct Answer :-

« NaNOs

14) Which of the following pair of compounds is composed of only primary

carbon atoms: /57 & ¥ H=1 ARIB! BT T Had AAFS HTd- GRATY A §7 8

CH;-C-CH, and CH -C=CH/ CH,-C~CH, Wil CH,~C=CH
" ) "

1. o o

| CHs CH-CH, CH-CH-CH,
an | | |
" OH OH OH T S5 OH OH
2.

CH,CH,COOH and CHyC—-CH, / CH,CH,COOH T4T CH;- C—CH,
g = o : = I
3 O le)

CH_:—(E—?\TH; and CH CH -0-CH CH, f CH;- C-NH, 941 CH,CH,-0-CH,CH,
. 22 : ey 2=
4. O (8]

Correct Answer :-

CH;- C-NH, and CH,CH ~0-CH CH, / CH;- C~NH, 34T CH,CH,-0-CH,CH,

15) Which compound does not give white ppt with AgNO3:/ Hﬁ?—ﬂTﬁﬁﬁTAgN%

P 1Y Jd 3M9&T T8} 3T B:
1. CHy=CH-CH,—Cl

2. (CH3)3C=Cl



3. CHy=CH-Cl

@— CH,-Cl

Correct Answer :-

.
« CHp=CH-C

16) Observe the following reaction and predict the product (P) and (K):/

frafaRaa sifuferar & g<d & S@rg (P) T (K) 8

: =~
(K) <55 Q/\ — 5 (P)
Br

T
Py and (K both are o
A @2\1’ i[*]ﬁﬂTiKiEﬁf?}@j\
1.
2 () and (K) both are mr [P ?!!mllilﬂﬁfﬁmr

Br "
Ly '"mr and (K) s OA\ [ m" ¥ Ag (K C‘ix S
3.

Br IB.'- ?]‘ }I'_j'r
. - - , B . :

Correct Answer :-

4.

Br |Br Br

Br
K T Ty 4 . = ~ L. I

17) Urea is a diamide of:/wmﬂm'sg@l?g%:

1. Biuret/ STSgXC
2. Carbonic acid/ ®Taii® RIS

3. Phosgene/ W1l
4. Formic acid/m Y IS

Correct Answer :-

« Carbonic acid/ ®Tei-® TS



18) For the reversible isothermal expansion of one mole of an ideal gas at
300K, from a volume of 10 dm3 to 20 dm?3, AH is:/300 K TR T 3(Texl 1 & U& Hid
3MA 10 dm3 | 20 dm3 TP IPHUNY 9 A YHIRG gidl 21 df AH &

1.1.73 KJ
2.-1.73 K]

3.3.46 KJ

4. Zero/X[T
Correct Answer :-

o Zero/YH

19) AB, A, and B, are gaseous diatomic molecules. If AHp_p: AHp_g: AHpg g are 2:
2:1 and AH’¢ of AB from A, and B, is =100 kJ mol %, then AH’s of Ag) is:/ AB, A, @
B, fERHATU[® AT 3r0] 31 AfE AHp_a: AHA_p: AHp g, 2:2:1 BT A, TB, A AB HT AH%;, —100
kJ mol~1 § T A(g) PT AHO; T §:

1. 200 kJ mol™!
2. 100 kJ mol™?
3. 50 kI mol™1

4, 300 kJ mol!

Correct Answer :-
« 200 kJ mol™!

20) A first order reaction was started with 0.1 M solution of the reactant.
M

After 8 min 20 sec. it's concentration was found to be E, then calculate the

approximate rate constant (secl):/ WW?ﬁﬁiﬁ Sfuferar # frarerRe @t
M

WRTRI® TTdT 0.1 M 2 94T 8 firie 9 20 Y Us UyTd PP RS &t ar=ar 100 & dt &
fradie &1 AT (sec™) A FTd BT

1. 16.6 x 1073
2.2.303 x 1073
3.1.8x 1074

4,246 x 1073

Correct Answer :-

e 1.8x 1074



21) A molecule MX,4 has a square planar shape. The number of non-bonding
pairs of electrons around M is:/ T® 3(U] MX, AT AR Tt U 81 M & TRI
3R 3rafia sAaeT @ e ghft:

1.2

2.1

3.3

4.0

Correct Answer :-
.« 2
22) Alkali Metals have:/ &g U1g It &:

1. Low density/ &H Ydd

2. High ionization energies/ 3= 34 |
3. High M.P./3< TIaHi®

4. High tensile strength/3= T g

Correct Answer :-

« Low density/ ®H Ydd

23) Cesium oxide is expected to be:/ HIfS/aH ffqITSS BT A1RT:
1. Acidic/ 3fia

2. Weakly basic/ Eﬁﬂ&ﬂﬂﬂ

3. Amphoteric/ IHTYHf

4. Very strongly basic/ UaddH &Rg

Correct Answer :-

« Very strongly basic/ UdddH &R

24) IUPAC name of:/ T IUPAC 919 &-
COOH
cl OH

RY dolissh RIS

1. 3-Hydroxy-5-chloro benzoic acid/3—6|$<§\|d{1“|—5—qc1l



a2 N o

2. 3-Chloro-5-hydroxy benzoic acid/3-3RI-5-EISgIa! dollgHURTS
3. 1-Carboxy-3-methyl phenol/ 1-®Taiad!-3-AfId Bi-Td
4. None of the above/ SRIad ®1g 8!

Correct Answer :-

« 3-Chloro-5-hydroxy benzoic acid/3—ﬂﬁ—5—ﬁ§§ﬁ¥ﬂm@3

25) Arrange the following in increasing order of stability:/ frafafea # wifia
& gd P T AT B

CH

(p) CH3— “"' —CH3

(q) CeHs— <P

—CH=CH,
(1) CeHs—CH —coHs

() CoHs—Ct —CHg
1.s>r<q<p
2.p<s<qg<r
3.r<p<qg<s

4. p<s<r<gq
Correct Answer :-

e p<s<qg<r

26) Which of the following is not "Friedal-Craft reaction”:/ Fg# ¥ T 1
“Hisd sive rfufrar =gt 82

NH, NH,
@ + CH.CHCI “—“;@
CH,CH,

NO,

1 NO,
+CH,CH (1 &<,
, 32 CH,CH,
CH.
S —— .- CH< oy
@AH;LILLHZL@’ CH,

3.



CH.CH,

. AN,
4 @]+{ H.CH CI —;@

N

Correct Answer :-

1< CH;
@m -CH=CH 1, @CH<CH;

27) Noble’s oil is:/ T9d a4 &:
1. Fire extinguisher/ 3ORMH®

2. Insecticide/ HIcARIG

3. Explosive/[d@hicdh

4. Detergent/\’:{CI'q[Gfa?

Correct Answer :-

. Explosive/faxhic®

28) When the value of the azimuthal quantum number is 3, the magnetic
quantum number has values:/ﬁﬁwwmﬁﬂﬁ3%, aagwaﬁum
=T & HHE B

1.+1, -1

2.+1,0, -1

3.42, +1,0, -1, -2

4, +3,+2,+1,0, -1, -2, -3

Correct Answer :-

e +3,+2,+1,0,-1,-2,-3

29) 1 g H, gas at STP is expanded against 1 atm external pressure so that
volume is doubled. Hence work done is:/STP W, 1 g Hzﬂvaﬁ, 1 atm dTeJ ¢Id IR
9 P WRITIRA B g, Td qb AR g1 gt e | fpar mar s« 3:

1.-22.4 L atm
2.-5.6 L atm
3.-11.2 L atm

4, -44.8 L atm



Correct Answer :-

e« -11.2 L atm

30) A system absorbs 10 KJ of heat at constant volume and its temperature
rises from 27°C to 37°C. The AE of reaction is:/ T& &1 f0a 3maaq W 10 KJ

SHEHT AN PIdT @ ) SHBT dTIATH 27°C A 37°C 8 Sra1 g1 fuferar &1 AE g1:
1. 100 KJ
2.10 KJ

3.-10KJ
4. Zero/R[U

Correct Answer :-

« 10KJ

31) Which of the following metals is commonly used in photoelectric cells:/

o & | FIRA UTg AT yoeT dgad a W Iua # ot St @:
1. Na
2. Li
3.Cs

4. Mg

Correct Answer :-

e Cs

32) The natural materials from which an element can be extracted

economically are called:/ WHfa® ugrd o/ a mar=it A fAewita fear s g@ar @:
1. Ores/ 3{gih
2. Minerals/ &fsl

3. Gangue/ 314
4. None of the above/%ﬂﬁ@fﬁéﬂ%"f

Correct Answer :-

e Ores/ 3IInh



How much C.C. of oxygen will be liberated at N.T.P. by 2 amp current flowing
for 3 minutes and 13 seconds through acidulated water:/ 3[%&ii%d Ul & 2
TR YR &1 3 e 13 I9vs & T yarfzd -9 W N.T.P. R fova= c.c. TR gaa
g2

1.11.2 CC
2.33.6 CC
3.44.8 CC
4,.22.4 CC

Correct Answer :-

« 22.4 CC

34) In a reaction, AH and AS both are more than zero. In which of the
following cases, the reaction would not be spontaneous:/U% Sfuferar & AH T
AS <1 3 A oiftes 81 FrafefRae foew ufefRufa & srfuforar w@a: =& gift:

1. AH > TAS
AH

2AS =T

3. AH = TAS

4. All of the above/IWRIad Tt

Correct Answer :-

« All of the above/IWRIad g+t

35) The ionic mobilities of the cation and the anion of a salt A,B are 140 and

80 ohm~1cm?2eq ! respectively. The molar conductivity of the salt at infinite
dilution is:/@dUT A,B & HeTdd dUT TATIH B! AT ITAHATY HHRT: 140 TUT 80 ohm1

cm2eq~1 &1 99U I mmwﬁa&rmﬁ%
1. 160 ohm™! cm? mol™!

2. 220 ohm™1 cm2 mol™!

3. 60 ohm™! cm? mol™1

4. 360 ohm™t cm? mol~!

Correct Answer :-

e 360 ohm™! cm? mol!

36) The number of photon of light having wavelength 100nm which can

provide 1.00 J energy is nearly:/ 100 nm 3¢ aTd UHTY A IUFRIT BIcH Bt



HEAT 1 §RA St 1.00 J Il U FHRaT g
1. 107 photons

2. 5 x 108 photons

3. 5 x 1017 photons

4.5 x 107 photons

Correct Answer :-

« 5 x 107 photons

37) Which among the following does not contain an ionic bond:/ fFg # 3 fead
IMf® 99 81 8-

1. NaOH
2. HCI
3. K>S

4. LiH

Correct Answer :-
« HCI

38) Formula of Gypsum is:/ foT%T% &1 g7 8:

1. CaS04.2H,0

1
2. CaS0;. 2H20

3. CaS04.H,0

4. CaSiO;

Correct Answer :-

« CaS04.2H,0

39) The shape of XeF4, molecule is:/ XeF, 3{U] &I STHTR B
1. Planar triangular/ &0 Iqaery

2. Tetrahedral/ W

3. Square pyramidal/ giffa fRifarsta

4. Square planar/ 3¥ig gHINT



Correct Answer :-

. Square planar/ 3G AT

40) Which of the following is E-isomer:/ g o 9 919 91 E A9yl §:

H,C CHO
~c=¢”

, H - “~CH,OH

HN. __OH

, H,C” “CH,OH

HDHﬁHC— _C=CH
H.N ~CH(CH,),

NC~ _.COOH
4 HC=C” “\CHO

Correct Answer :-

HOH.C~. . _ C,,.C = CH

HNT “CH(CH,),
41) 60°C, conc. HNO. Sn/HCl
CiHsComcaso, * A B
$nCl, / NaOH
C

A, B and C respectively are:/ A, B 3R C PH: %
1. CgH5NO,, CgH5NH3, CgHsNHOH

2. CgHs5NO,, CgH5NH,, CgHsN=NCgHs

3. CgH5NO,, CgHsN=NCgHs, CgHsNH

4. CgH5S03H, CgHsNH,, CgHsNHNHCGH

Correct Answer :-

« CgHsNO,, CgHsNH,, CeHsN=NCgHs

42) Reaction/ 3f¥ferar

H* + OH™ — H,0 + 57-1kJ



1 mole of H,S04 is mixed with 2 moles of NaOH. The heat evolved will be:/ T®

W of H,S0,4, 2 A NaOH & |1y firamaT SiTaT 81 Sad IoT ghft:

1. 57-1KJ

2.2 x57-1KJ

3.3kJ

4, Cannot be determined/ﬂﬁﬁmwm

Correct Answer :-

« 2x57-1KJ

43) The rate of disappearance of the reactant A involved in the reaction 2A +
B - 2C + 4D is 1 x 102 mol/lit/sec. Which of the following statement is not
correct:/ 3fUfFAT 2A + B - 2C + 4D H A & fA@@@ 9 #1 & 1 x 1072 mol/lit/sec
g, @ g A A F9-971 FYF 94 §:

—d[B]
=5 x 1072 _
1. dt mol/lit/sec.
dle] _
2. dt ~ mol/lit/sec.

~dlB]_ ~1d[4] _1dIc]
3, d 2 dt 2 dt mol/lit/sec.

1dm0) _
4,2 dt " mol/lit/min.

Correct Answer :-

1dip] _
o 2 dt " mol/lit/min.

44) One liter of a buffer solution containing 0-01M NH,Cl and 0-1 M NH40H
having pKy, of 5 has pH of:/ 0:01M NH,CI 94T 0-1 M NH,OH & 1 dieX I%R faeas & pH
ghft 5 f® pk, = 5 B

1.9
2.10
3.4

4.6

Correct Answer :-



Identify the correct order in which the covalent radius of the following

elements increases:/%H P UgdI~1A f9A A 9l &t gdaere B ged 8
(1) Ti

(II) Ca

(III) Sr

1100, 1, 11

2.1, 11, TI1

3.1I, 111, I

4. 11, I, III

Correct Answer :-

o I, II, III

46) Which of the following is most stable towards heat: 9 § feg®r ardtg
R SaTeT 872

1. CaCO3
2. BaCO3
3. SrCO3
4. MgCOs3

Correct Answer :-

« BaCOs3

47) Carbolic acid is:/PTaI P TS B:
1. Isopropyl alcohol/mmﬁﬂm

2. Butyric acid/ SIeTsR® RIS
3. Phenol/ AEI]
4, Methanol/ﬁa:ﬁ'?[

Correct Answer :-

« Phenol/ LA

48) A reaction A, + B, — 2AB occurs by the following step/ 3ifufsara, + B, —

2aB forg ve & quf 81t &

A, S A + A (fast/ o)



A + B, — AB + B (slow/ 1)

A + B — AB (fast/ d19)

The order of the overall reaction is:/ a1 Glf\mﬁﬁﬁﬁﬁ:ﬁ%:
1.2

2.

Ml N

3.

o

4,

Correct Answer :-

49) Which of the following configuration is associated with the biggest jump
between first and second ionization energies:/ﬁ?ﬁﬁm sﬁaaﬁa?ﬁmm
TYT qUT el emae Sort # vt g @ wafia @:

1. 1s2, 2s22p°

2. 1s2, 2s22pb, 352
3. 1s2, 252, 2p?

4. 1s2, 2st

Correct Answer :-
o 152, 25!

50) The reactivity of the alkali metal sodium with water is made use of:/

T uTg WfSTH o1 5T & 1Y Frar=iadr &1 IwhT &:

1. In drying of alcohols/mﬁﬁﬁﬁﬁﬁﬁ
2. In drying of benzene/ SSiF &1 Y& &

3. In drying of ammonia solution/ ST faaae &t {1{9”% e

4. As a general drying agent/STHRI LHHRS & &0 H

Correct Answer :-

« In drying of benzene/ o4 &1 g@H

Topic:- Maths



1) (11

X+ —+2 X+ —

The middle term in the expansion of--- S A L TR § 4
T §:

M

3, [

i 3
'-.—n:.-'

ey 12
2. [(n/ 2}

TE M Yaiy
135.02n+1) ,,

3. Fid

A0
(2!

i "|:
'-.”:.-'

4.

Correct Answer :-

A0
(2!

i’ "|:
'-.”:.-'

2) 1f #= -} then the power set of A is :/4f¢ * =¥ gy A & UTd gl Dt
WT%

1.A
2. (0. {0k A}
3. {9 {9} {g}}. A}

4. None of the above / SRigd § A qﬁ{:rgﬂ'

Correct Answer :-

o ({0} {9}k 4}

2 g =loax L
cde=ksin™ {27} +¢ S de=lsinT(2%)+c,

| — = f
If  Vi-4 then k is equal to:/afg * -+ a K BT HE
fFrae RER &:

1.log 2

2.1/2 log 2
3.1/2

4. 1/log 2

Correct Answer :-



Y The area of the region bounded by = 1Y =2V=¥gnq x=ljg;/y="Lry=2.0=x
AR * =0 gRT UNES &F BT &6 8:

7 7
1. 4 sq unit/+ EI"‘TET:ITI'St

1 1

2.%sq unit/s T SHTS
3.4 sq unit/4 ﬁ?ﬁh‘l’s‘
4. None of the above / mﬁ@[?ﬁéqﬁf

Correct Answer :-

17 17

. ?sq unit/+ a“‘f%il?l?f

5) The midpoint of the line joining the common points of the line *~3¥~8=10

and *" =S is: /¥ 23 -8=0 g V7 =587 % qunfirg fgait Y sited areh Yt w1 wem
ﬁ?’sm:

1. (3, 2)
2. (5, 6)

3. (4, -1)
4.(2, -3)

Correct Answer :-

« (5,6)
6) x+2 n 2 x+2 i
Fix) =1 tan " (x+2) : fix)=1tan(x+2) :
' 2 r=-2 fix) - ! 2 o ox=-2 £
If then ' ™is: /afe : a S fead
IR 8:

1. Continuous at x = -2/x = 243 {dd
2. Not continuous at x = -2/ x = -2 U AHdd
3. Differentiable at x = -2/ x = -2 R AAH AT

4. Continuous but not derivable at x = -2/ x = -20?%@%&@%%:@

Correct Answer :-

e Not continuous at x = -2/ x = -2 Q¥ AHdd



The equation of sphere whose centre is C(5, -2, 3) and which passes through
the point P(8, -6, 3) is :/ A &I GHIHRUT for @ 7% C(5, -2, 3) Td &t fag P(8, -
6, 3) | PR ATdT B, T~

1 xdeyt ez 10x+y—62+13=0

5 ¥l eytez? —10x+4y—62+13=0

3 2l 4+vi4+z 102+ 2y —62+13=0

4. None of the above / SRiad & A do\lé”:liﬁ

Correct Answer :-

, Xyt ezt —10x=4y-62-13=0

87 =8g= 27 - 200-13-15=0 Lo hresents a pair of straight lines.

The distance between them is: /JHlI- S“":_5":"_33':_Eﬁ'r_IE’J'_lf:DWWWTW
oI fefig oed &1 399 a9 &1 & gift:

8) The equation

1. T unit/ Tgao‘é

2. 25 unit/ NG ECIH)

3. J: unit/J-;' SHIS
4. None of the above / Bnﬁaaﬁﬁaﬂéqé’f

Correct Answer :-

9) Given positive integers " *1 7> 2 and the coefficient of (3r)th and "2 th
terms in the binomial expansion of =" are equal, then:/ ¢\ T® quii®
rrln- 2 fRAMEEE 9 S Rug R A O wd (r +2) 3 &) & UITP RTeR , ai:

1 H=_.F
2. m=21r+l1
3, n=3r

4. None of the above / Wﬁ@aﬁéﬁ

Correct Answer :-



10) If A, B and C are the angles of a triangle, then the value of the given

determinant is:/3af¢ A, B 3R € YT & #Ivr § i faw ¢ arfore &1 4 g

—1l+cosE cosC+cos85 cosE

cosC+cosd —l+cosd cosd
—1l+cosE —l+cos4 -1

1.0

2.1

3.-1

4.2

Correct Answer :-

« 0
11) o logx? . 0 teext .
y=sinT| —=— | v y=sinT) ——— v
If =027 then the value of & is:/afy =020 ) gy & wr

2

1 x{l +log x)

2

5 x{l+(logx)’]

1
3. x[1+(logx)’]

4. None of the above / SRiad & 9 qﬁ{:rg?f

Correct Answer :-

-

. l+@ozx)?]

12) 7 white balls and 3 black balls are placed in a row at random. The
probability that no two black balls are adjacent, is:/7 93 T¢I T4 3 HTell Aal HI
% Ufed H grefese ©u A 3@ 4T 31 Y g ot 3 St 1S v 91y 7 8, 39t wiiedn
gt

1.1/2
2.7/15

3.2/15



4, 2/17

Correct Answer :-

« 7/15

13) The product of the perpendiculars drawn from the foci upon any tangent

to an ellipse is:/ fpaft §idga # weif w TR @ S0 T ddl &1 qUHEEH -

1. ¢

14)

The shortest distance between the lines
+u (2 +4f-5E) is 1/ Y@ F=(di- )+i (F+2]-3K) M7= (F— j+2K) +u (2i+4j-58)

%ﬁﬂﬂﬁ%ﬂ@'ﬁ@"ﬁ:

waloen

1

2 F

i

3
4. None of the above / Wﬁﬁaﬁéqﬁf

Correct Answer :-

15) The edge of a cube is increasing at the rate of <" ' 3¢C. How fast is the volume of the cube
increasing when edge is 12¢" long?/ T& 99 &1 HIX 5 I Ufd AU o1 X A 9¢ W 81 & 9 P
PR 12 9 @t B, A 59 R A ¥4 &7 3Maa 9¢ 8T 72

1, IemTisee a0 J Uiy Adbe
2. 2160 cm3/sec/2160 T4 Ufd Jhs



3. 180 cm3/sec/180 TH1 Ufd A

4. None of the above / SRIed & A d?l'-:f:lff

Correct Answer :-

« 2160 cm3/sec/2160 I ufd AHs

16) 2

G P
§

The volume V and depth x of water in a vessel are connected by the relation and

the volume of water is increasing at the rate of Sem” /sec, when * = 2¢7. The rate at which the
depth of water is increasing, (in cm/sec) is:/ T® &l T gt &7 Smaad U oaur TTERT§ T g™

-
I

A

X

6 gy OvERId @ qur ur @7 o 5 S |APTE P R ATCIWIE| og “=2 Mg @
Tt FY TeRE P R | ¢ 38 & ([W/AH )?

5

8

==

1.

N
|

b | =

4. None of the above / SWRiad & A BIs gl

Correct Answer :-

« None of the above / IWRIad H ¥ BIs 8!

17) If _"_:_"___"_:_"__ 1o T -'_:—-'_.— w1

oL ) qRrER g

1, 7 +a’)

fr— 11 = =1 . =Ty = =T . .
18) The number of solutions of 22+ (F—D=102,(x =3} 4q., loz (x-1=loz, (x-3) ¥ =y 3t W= ¥

1.3



2.1
3.2

4.0

Correct Answer :-

19) The number of non-zero terms in the expansion of 321} +{ =327 gy

1434707 +(1=340° 3 R & ST vel @ v B
1.9
2.0
3.5

4. 10

Correct Answer :-

« 5
20) (1Y,
The locus of the point z satisfying Re w2 where k is a non-zero real number, is:/
o
R T oiel k o SR aNdfa® W B, @ fig z 31 fig vy g

1. A straight line/IRa ¥
2. A circle /9

3. An ellipse /<¥ga
4. A hyperbola/&ﬁw

Correct Answer :-

« A straight line/IRa ¥

21) The critical points of the function JE)=@ -7 (@x=]) are:/WﬂU:U_z]‘ (2x+1) Caj
wifaw fag &
1.1 and 2/1 3R 2

1

1
2.1 and _5/1 3R
3.-1 and 2/-1 3R 2

4.1



Correct Answer :-

« 1and 2/13R2

22) yf *1-*2--- *» are any real numbers and n is any positive integer, then:/afg 1 2=
IRAfd® T=IY B 3R n TP YATHS Uit @ ol
WS xd el S,
Flae B
1 =l \ia
~ t > T X
S - | el
5 =l i1
SxizaSx
i | i
3 =l \id
4. None of the above / SWIad # 4 qﬁ{:rg?f
Correct Answer :-
e =l Sy
i | ]
. il |1
23) x-1_y+l1_z-1 x53 vk :z
If the lines - 3 + and ! 2 1 jntersect, then the value of k is:/df¢ Y@@
x-1_y+1_=z-1 x=3 v-k =
2 3 Lok ot I gfodfia i § Ak FT U §:
£l
1, 2
g
2. 2
2
3 9
2
4, 2
Correct Answer :-
L
24) Let %, B be the roots of & ~77¢=1-7.9 pe the roots of 7* ~% 7 =1 and P1:0: are the

v 0.:0

respective discriminants of these equations. If the ':", B, " and 5 are in A.P. then 2 is equal



to: /T %, P afiaur - ax? + bx + c = 0@ &, T wa S wdiwww - & #7 =0 H g ¥ wd
D102 g et & Rt #1 7R ©, B, ¥ wa & wwiR AoRt #2210 arr @

a

[y
L

£y
i

N
oy
b

vy (=
[

= oo
ba|  ka

Correct Answer :-

25) ."1 s 3 ..1 . 5
| - | | —+x™= ] x>l
The third term in the expansion of -* . is 1000, then x=?/ -~ - *

TR ¥ qeid Ug 1000 B, f x = ?
1. 100
2.10

3.1
4. 17410

Correct Answer :-

« 100

26)

If 2+5+c =0 then the solution of the equation a e is:/afg a+i+c=0gaQ
a-x £ &
¢ b-x a [=0
T & a4  c—x %H\a%
1.0




27) The average weight of students in a class of 35 students is 40 kg. If the weight of the
1

teacher be included, the average rises by 2 = the weight of the teacher is:/f& &1 & 35
B BT 3 MR 40 fHum 81 afe sud Riere &1 uR wnfire frar 9il, of 3nva 1/2 feur. sg S e,
fRrere &1 UR 8-

1. 40.5 kg/fe3n

2. 50 kg/fdun

3. 41 kg/fn

4. 58 kg/feun

Correct Answer :-

. 58 kg/f&ur

(-1’
5 4pi-i

(2?1’
3. -I-p‘—].

(2?+1)°
4 P71

Correct Answer :-

(* +1’
1p7+1

29) yx=l-g=a’ = _=a<l)

y=1=8=8" %0 <1 then the value of 1+ab+a™5" +....» jg 1/



r=l+a+a’ . _mla<1)

y=l=b=btwl<l) Gritabra’s + = proE A

1 -1
g0l
11
2 b

|

-1 1
i1 1|



31) 1f the roots of the equation *~ —2@x+a” +a-3=10 are real and less than 3, then:/ afg
FfeR *° -la+at +a-3=0 & 7o qrAfde @3 A HAE,

lL.a<?2

Laa

2.2%3%3
3.3<a£4
4.a >4

Correct Answer :-

e a<?2

[

32)
Fa=% (%9 4y (P %)+ 2(F¥3)and[F27]= %, then ¥ "7 isequal to:/ Tl

G=x (E%bypy (P )+ z(F¥E)AR[E5 )= %,?ﬁ (¥=¥~2) fpad wET &
1.8 % (345 47)

2. G (F4b oy

3.8.(3+5+7)

4. None of the above/ SWRIdd & ¥ 5 ol

Correct Answer :-

.« 8(F+047)

33) x* E
|ﬁ Cos" fat | cos” far
lim — lim —

The value of *=% xsinx g/ =0 xsinx HTAAT:
1.2
2.1
3.0
4. None of the above/ IWIF & ¥ 5 o

Correct Answer :-



£
3

2.2 L1353y =0 w 11x—:fJ'—T=ﬂ %mﬁgﬁﬁmmam=

4x? +4y? —30x-10y =25
4x? +4y? _30x-13y-25=0

4x? +4y? 1 Tx-10v+25=0

4. None of the above/ SRIad & A or>\|$°:|'e?f

Correct Answer :-

« None of the above/ SWRIad & w\léﬂ'é)f

35) x=3 -1 x-2 .
—E 2—x>2x-8§,
The value of x for which * 23 is:/ x 31 9 foras
x—3 x—1 x-2 -
—x < - 2—x>2x—8,
2 3
1]
1 I_ -"_I
(2]
2. 7
3.R

4. None of the above/ SWRiad H T PIs 8!

Correct Answer :-

(12
. ? .
36 Pk ..

) £ex) I = | Caf{a(l-x)tex, Iy = | Faa(l—x)} e

Let / “*/ be a positive function, Let Sl - where
Il T e e 2 T re 2
I, = ¥ixl-x)idk, I, = Fx(l—x)id
%-1>0. then 12 =2 /A ¥ /) ww MIeE GO R, | Feond Iy= |, fixd-)de
- 14

Correct Answer :-



If Sy - *Jand “*/ ,then 7 jsequalto:/ AR}

3 S EiR Y @ EY frad R #:

3.sin 1°

4. None of the above/ mﬁﬁﬁﬁ%:@

Correct Answer :-

38)

‘|. r dr= f(x)fl+* —2log(g(x))<c, g
If 1 then the value of /'™ is:/ afe

[E—d= o flee 2o -e.
Ji=e® @ /) pram &

et
4 _g E

1. 2X
2.2Xx - 4

3.x -4

4. None of the above/ SWRiad & & BIs gl

Correct Answer :-

e« 2X -4

39) If the slope of one line is double the slope of another line and the combined equation of the

—+ +x =1 2

pairoflinesis = % > , then Z°" is equal to:/ af T Yea1 %1 a1, g} ¥ & @ret it

2 2o 3
STAT & U1 341 I BT Tgad I, e O N — —
1.9:8
2.3:2
3.8:3

4. None of the above/ SWRiad & A BIs gl



Correct Answer :-
« 9:8

o

40) lim|log, 2x toz. 7 lim|log, 2x
The value of Y B STHMAE B:

Correct Answer :-

41) If's' 'C"_ J k'lf"' E].—.'Cj: _.rﬂ”i.'fj{ﬂ for ﬂiri:l,then:/tr% ﬂifil%m
(0= £+ FA-2). [ (@) <0 G,

o L

| == .\ {

|.||Il—l-

8o, fr e &

1 EI:
2. o (X) is decreasing in thel—

|J|I—l-

| 0.

|J|I—l-

/qJ ), - 2 AgmmH R

1. |
—ffa‘ehqﬂ%

I-.l||—-.
|J||—-

19, &

1

_;.;=_

4. ¢'(x) is minimum at *7 —:'/¢I x) = WW%

3. o (x) is increasing in the -

Correct Answer :-

| 0
. 0 (x) is increasing in the |

e

0, LY Ao d

42) Suppose A A1 430 gre thlrty sets each with five elements and 1: B30 By are n sets each
U 4= UB =5
with three elements such that * If each element of S belongs to exactly ten of “: g

and exactly 9 of the By's then the value of nis :/ AT <2 42 30§y gq=g g e e
5 e ¥ Frrd vld® wgey @ saua s veR &
UA_ UB =5
-l !TI%EWWW'{:H%WW&WWQ&BJ ¥ Sl 9 3auql &I TG g, @t
JETI'FIH'@TIT:



1.15
2.135
3.45

4.90

Correct Answer :-

e 45

43) A box contains 100 tickets nhumbered 1, 2, ..., 100. Two tickets are chosen at random. It is
given that the maximum number on the two chosen tickets is not more than 10. Then the
probability that the minimum number on them is 5, is :/ T& Jg® ¥ 1, 2, ...,100 3ifHd 100 *we §1
3 diwe gressdT g1 a1 foar T B f g9 T gt fewel W siftreaw T 10 | 3ifte A8t 8 It €,
@ uRiedr f 39 W gHaH T© 5 8, ghfl-

13

1, 14

13
2. 13

E
3. 13

4. None of the above/ SWRIad & A orﬁéﬂ'eﬁ

Correct Answer :-

13

o 15

44) 27 2.3

LA= . :ﬂ—5=_'|q|||: iL{EC}: e~

In a 2ABC, 3 cm and area 2 " then a is:/ T& fys 2ABC, A

N
/_.{=—:-_"J—:=3»-.,|"§

3 eﬁ?ﬁﬂﬂcmm%ﬁz 2l a BTUM &
1. 6V3 ey 6V3 3nf

2.9cm/9 T

3. 18 cm/18 94

4. None of the above/ SRIgd & A Ob\lsrﬂﬁ

Correct Answer :-

. 9cm/9@'ﬁﬁ



Q_=B: _EI.Y—E:_'(: jppl— —B:___lr:.'_]'_g:.r:'. +_

If 1-x ) *, then the value of %» ~ %=1 is 1/ afg

£ =B, —le—B:r: + o —B:.__lr:-'_l—E:._.*::" +.... 5 _x
I-x @ “n 7 Fnl BT HE I

1

(n-

i
L4

1

i’ A1)
2. (n—1}!

1
3. H

4. None of the above/ SRIGd & A dv\l'-:fqﬁ

Correct Answer :-

1
e H
46 - |:. ..I -1 4 B - 5
) cos 1.%.—2051 = |=¢, ‘p,—-ccnsuf:—qﬂ=<m‘u-:
If 4, 2, then < e° where k is equal to:/ afe
b | - I..."g..l : - : . 7
cos e +Cos ! = = g +iCoso, —?—,=sm‘-1

a) (TR S S @ k BT A4 fPad =R &

= pg
1, ab
_2pg
2 ab
£q
3, ab
_bg
4, ab




48) In how many ways can 10 true-false questions be replied:/10 ¥ dYT 3
TR & SR o TeR | fod o 9d §:

1. 20
2.100
3.512

4,.1024

Correct Answer :-

- 1024

49) How many even numbers of 3 different digits can be formed from the
digits 1, 2, 3, 4, 5, 6, 7, 8, 9 (repetition is not allowed):/ 3l 1,2,3,4,5,6, 7,
8, 9 1 i+ 3wl areh fpasit ww T Tt &7 At € (wafe gRigf afsla 2):

1. 224
2. 280

3.324

4. None of these/gﬂﬁﬁaﬁé:féﬂ'

Correct Answer :-

. 224

50) po=t A B A4

1
Consider two events A and B such that 44, - + For each of the
following statements, which is true: /¥ T f& € g A 3R B 39 YR & dife

P(.lj_jl P'E' L P“' L

5 :

A YTE Y pm At e e e aa R

Pl4° BT _2
I 4
II. The events A and B are mutually exclusive/ aﬁT-ﬁ g A 3R B RER GITITﬁﬁ%

IIL PA/B)+P(4/B")=1

1.1 only /&ad I



2.1and II /I 3R II
3.1 and III /I 3R III

4. 11 and III/ II 3R III

Correct Answer :-

« Tonly /Pad 1

51) The moduli of two complex numbers are less than unity, then the
modulus of the sum of these complex numbers will be:/ Uﬁ{ﬁﬁﬂﬁ@ﬂxﬁ%
HIUT® SPTS A BH g, a1 51 JFRTY ST S TN BT HIUTS ST

1. Less than unity/ SHIE Y HH
2. Greater than unity/ QT:hTs;@ 3fep
3. Equal to unity/ 3T & SRT&R
4. All of the above/ IuRlad gt

Correct Answer :-

o All of the above/ IWRIad gt

52) If S1520 o Tn =3 thep M2 TAZI T THZZ, and TEZ differ by :/aﬁ ZZ e n = £,

1. Multiple of ™/™ T UTS

2. Multiple of 2 / 2 &7 T[Ursl
3. Greater than ™ /T 3§ 3{fi&
4. Less than /T T &H
Correct Answer :-

« Multiple of ™/ &T U

53) |.. ”-.I . I..”..I
A series whose nth termis “*  the sum of r terms will be:/ of}, RRI®T » afug -

g, @ Aot F 7 UGl BT AONTHS R

e
IKils 19,__

1 | 2x

.

2 [ 2x



Correct Answer :-

[r+1)]
. 2x
54) 1_£—i—i— ........ oo
If the sum of the series X x° x is a finite number,then:/Q'Uﬁ
2 4 8
I+ -+ e
* x° x 1 91T Ue frga e g, o
1, x»12
2, xx-1
X > —
3. =

4. None of the above/ SWRiad & A BIs gl

Correct Answer :-

55) In a touring cricket team there are 16 players in all including 5 bowlers
and 2 wicket-keepers. How many teams of 11 players from these, can be
chosen, so as to include three bowlers and one wicket-keeper:/ W‘HTI'UTERT-ﬁ

g3 fpdpe U o 16 fIaE &, oA 5 Aears aur 2 fade IR §1 399 | 11 fIenfsay #°
Tt fopaeit S it o woelt & Forad i Aeame 9yt v fade Fhw 8

1. 650
2.720
3.750

4. 800

Correct Answer :-

« 720

My 1R . _qych Ll
56) If coefficient of (2r +3) and (r-1) terms in the expansion of (1+x) are equal, then value

of risyyarz 1=9" Fyard 7~ Faqur 0 ¥ vt & orie wER §, @ 7 STAAE:

1.5



2.6
3.4

4.3

Correct Answer :-

57) In the expansion of (x=a)”. the sum of odd terms is P and sum of even terms is Q, then the
value of ©" =€ willbe:; ¥~ Fyur d Rum i wram P dawrww wa wran € @
=27 19 @

. (x2 =a?)"
N (x2 —a?y"
3. (x—a)*”
4 (x=a)™

Correct Answer :-

. P -ay”
58) 1 cos{f-a) cosy—a) 1 cos(f—-o) cosir—a)
cos{o— &) 1 cos(y — &) cos{o — 5 1 cos{y — 5}
cos{—7¥) cos{f—v) 1 . cos{x —¥) cos{f—v) 1
The value of “*' ™7/ i & is 1 F95E T =7 PHTHA 8:
cosce sinee 1T
cosS sinf 1
cosy siny 1
1. s o
singe cose O
sin A cosfd 0
si ¥ COSY
2l ) £
cos sine 0 |7
sinS 0 cosf
0 cosy sny
3. f) )

4. None of the above/ acrﬁaaﬁﬁﬁéqe"r‘

Correct Answer :-



singy cosc 0
sin A cosfd 0

is equal to / TF AYSTABC & <+ C=25

4. None of the above/ SWRiad & A BIs gl

Correct Answer :-

A-C

60) If the angle between the pair of straight lines represented by the equation
1y

2 3y iviady_Sye2=0, AT S - _

S & -’< where ‘" is a non-negative real number. Then * is:/ af¢

a1
taﬂll_l

. x? 3yt s -5y +2=0 WWW%WWW 3 _E?f\_ﬂﬁf
IRAfA® W& B, d - g

A-C

4. None of the above/ IWRiad & A BIs gl

Correct Answer :-

A-C




Let 71:¥1) and 90%2:72) are two points such that their abscissa *! and *2 are the roots of the
equation ** +2¥-3=0 while the ordinates ' and * are the roots of the equation’ ~** ~12=U,
The centre of the circle with PQ as diameter is: /AT © *1:21) giw 90%2-72) Rg @R ER>
I e o 2wl +20-3=0 FumFa e B M oak 2 iy R 20 fgmEa
PO Ft oo AR W T 99 31 F 2

1. (-1,-2)
2.(1, 2)
3.(1,-2)
4.(-1,2)

Correct Answer :-

62) x =1

=4x Y at point (16, 8), is:/ TP

The angle of intersection between the curves ¥ and

V=4 g 37 =30 gfrede & o o1 S0 g (16,8) T &N

af 3

3

tan

ETES
tan™| = |

3

b 5

Correct Answer :-

tanif 3
63) _ -2y xied o _
The value of -, for which the line 3 is a normal to the conic 4 is:/ P
5 c_ = ) ¥
LX——A¥==2 . T4+ =1 .
g 7 & ford Y 3 , AP q L o7 e §:
W
1. 2
1
5 2
A3

-

3. .



':n":lll_p_.

4.

Correct Answer :-

64) The distance between the foci of a hyperbola is double the distance
between its vertices and the length of its conjugate axis is 6 unit. The
equation of the hyperbola referred to its axes as axes of co-ordinates is: /T®
SfaRaey ot AT & dta it gl TP Nl & g &t gt 1 g SR Tl i
WqTE 6 FHTS o | SfaRaay 3t 3ie & fAd=I® sref Ad gY ifawmaeya &1 gHiwur 8:

1 3xt—y?=3
2 xt-3p?=3
3 3t -y =0
4 x* -3y =0

Correct Answer :-

65) 1f % and ¢ are eccentric angles of the ends of a pair of conjugate diameters of the ellipse
x2 ) 1_ _ 2y

a’ 5% then “ ?is equal to:/ afe O aur ¢ Sdqw a ot
@11 8, a © 3R @ s ghm:

| & sl e & RIS o

3.0
4. None of the above/ SWRiad & A HIs gl

Correct Answer :-

[T

66) Three forces of magnitudes 1, 2, 3 dynes meet in a point and act along
diagonals of three adjacent faces of a cube. The resultant force is/ GIEE G
e ufewmor 1,2,3 5159 €, T fag W fied € vd w9 & 19 S was! & fawul &
Srgfext s &, of ufvomdt @ &:



1. 114 dyne/ 114 SigH
2.6 dyne / 6 SIgA
3.5dyne/ 5 SIg

4. None of the above/ SRIgd & qﬁé:@'

Correct Answer :-

« 5dyne/ 5 SIg

67) The equation of the line passing through the point (1, 2,—4) and perpendicular to the two

x—8 y+18 =10 x-15 y-20 =z-3
lines 3 16 7 and 3 8 =3 will be/ fa=g (1, 2,~4) I ToRA arelt Td v@mait
x-8 y+19 =z-10 x-15 »-29 z-3

T -3 W Y T e R

x=1 v-2 :z+4
1. 2 3 6

4. None of the above/ IWRiad & I HIs gl

Correct Answer :-

. 2 3 5
68) . 1
TR T ]
The largest possible set of real numbers which can be the domain of * is:/

S Y S E SN o= 1 St (sir) & W 3, @
1. (0,1)~(0,%)

2.(-1, 0)~(1,™

3. (=%, -1)(0,%)

4 (<%,0)(1,%)

Correct Answer :-

° (_IIO)HJ( 113:)



X, = _ .
If it 144 -1 then™== is equal to: /Tfq
o I—24+53 -4 +5-6+....... . —-n
| bredoiot @ B e ava
1
1, 3
5 3
33

Correct Answer :-

. 3
70) (xT+x?-16x420
flx)=+ (x-2)° T
| I i = 2 T
- " ¥ =< If f(x) be continuous for all x, then ©=2/AT f&

3.9
4. None of the above/ Wﬁﬁaﬂ‘sﬁ:@

Correct Answer :-

1 .1 1 1]
1 2| x—a x-4 x-c x-d]
[ 1 1 1 1 ]
v + - -
2 x—a x-b x-c x-d]
[ 1 1 1 1 ]
7| - - -




4. None of the above/ SRIad & A dv\l'-:fqﬁ

Correct Answer :-

Correct Answer :-

e 9

73) |.. & [P
R - S .H:Tf ce|0,—
Consider the function J(x)=e™ sinlx over the interval - ~- A real number

| 0

|
T - =15 e

ta| #

guaranteed by Rolle’s theorem, such that /() =7 isz/ aierrer © 27 Fwem S(¥) = sinlx
ce '..EI ; |
S 7Y F AJER TP IRATAD G@I ogamerefd 90 A
1, /8
2. 2
3. ¢
4.0
Correct Answer :-
e T/8
74) pr!l qEax . . sinx ]
The valueof *~ - 7= is /" 255 428 a,-[']:"q%
1.4
2.2



4, 2=

Correct Answer :-

75) The differential equation of all circles which passes through the origin

and whose centre lies on y-axis, is:/ G4t g6 & srawa GH. &t o fag | ok &
aUT FoT St y 3181 W T, Bm:

- - '\..1|.
£ iy AN Vs —
(x*=2")—-1x =10
e

76) The equation of the curve that passes through the point (1,2) and satisfies the differential

equation @ (x?+1) is:/ 3 9% BT THY. o g (1,2) A ToRaT @ TUT 3adha T, & (x1+1) el
e PATE, ©

1 xt 1) =4

) yx? £1)+4=0

3 Wx!-1)=4

4. None of the above/ Wﬁ@fﬁ%ﬂ‘eﬁ'

Correct Answer :-
xt 1) =4

77) If forces of magnitude P, Q and R act at a point parallel to the sides BC,

CA and AB respectively of a AABC, then the magnitude of their resultant is:/
gfe fret famg W erivq &= 9@ &1 ufvwTor P,Q TUT R HHTT: TH FAYS ABC &t Yorraii

BC,CA dUT AB & JHT=IR 8, ! 9% ufvurr &1 ufvHror 8:



4. None of the above/ SRIad & I orﬁéﬂ'é’f

Correct Answer :-

. {Pi—gi—.:J.:—:-Pg:asr:—zgﬂ:ns.;—zﬁﬂmss

78) Let A,B,C be three mutually independent events. Consider the two statements 5 and S /
A,B,C T TRER Wad geAr™ §1 1 9UT ~1 & $YA T W W

“1°“ and 2~C are independent/ *! * qur 3~ C WdA §
%2°4 and 2~C are independent / ~2*“ qur 3~ C WA
Then/ @:

5 <, g c. .
1. Both = and ~2 are true/ =1 AT =2 I 9 §
2. 0nly 1 is true /Had 1 9 &
3. Only S is true/ao_clﬂ S W%

. o o o o

4. Neither =1 nor ~2 istrue /Al "1 gl “2 T @
Correct Answer :-

5 5. - o .
« Both "l and "2 are true/ ~1 @ *2 GHI T §

79) A man draws a card from a pack of 52 playing cards, replaces it and
shuffles the pack. He continues this processes until he gets a card of spade.
The probability that he will fail the first two times is:/T® 3MgH! 52 TN Pt TI1
Y TP TN FPTEdT 8 9UT aT ISR TS &1 Be 3T 31 98 37 UHHAT Bl 99 9P alexrdl 8
9 9% % gpu o1 w1 T8l fdaar 31 3P 3 IR Ed g Pt Wi &:

3. 64
4. None of the above/ IWRiad & A BIs gl

Correct Answer :-



80) The mean age of a combined group of men and women is 30 years. If the
means of the age of men and women are respectively 32 and 27, then the
percentage of women in the group is:/ 3MERA! TUT 3Gl & VYo GG &I AT 30
a9 31 afe smefiral aur sivdl &t Mg & uTey HURM: 32 YT 27 T, A g A iRl &1 ufa=ma
gRM:

1. 30
2.40
3.50
4. 60

Correct Answer :-

. 40

81) In the Argand plane, the vector = 4-31 js turned in the clockwise sense through 180° and
stretched three times. The complex number represented by the new vector is:/ M~ Hdd ﬁ',
femr 2= +-3! o} gferomad fa=m & 180° | THTT WIAT 8 TUT IHB! ATS oI T B oAl 8, O 7 afexr
BRT weikia uffry Tem &:

| 12+9i
5 12 -9i
3 —12-0

4 —12+9i

Correct Answer :-

. —12+9;
82) 1 1 1

If S1:Gaes o %1 are in ALP. then 191 914z el g /uﬁ LS I % TR

1 1 1

Q‘Uﬂ'ﬁ%,?ﬁ aa P a :._1%

n-1
1 &'1&' +1

1
2. &'1&' n

n+l1




Correct Answer :-

M

o T1%ma

83) 1f one of the roots of the equation ** & +5=10 and " +x+a=0 js coincident, then the
numerical value of ‘“* %) is:/ afg wftexulf « +@+5=0 qur x* + tx+a =0 &7 gP qu GUd &1 @t
(a+ %) o7 wemEe W g

1.0
2.-1
3.2

4.5

Correct Answer :-

84) The given diagram shows the graph of y = ax2 +bx + c, then: /fear waT fo Yy
= ax2 + bx + ¢ & fA==fUa Fwar g, ai:

i
RN\
0 o oo » X
1, a=1
2. Bl
3, c<0

4, b*—dac=0

Correct Answer :-



The system of equations* ~»' =2 =0:¥ =2y =32=10.x =2y =12 = L g 16 solution for: /THIHRTT ¥
= x+y+=z=0x+2y=3z=10x+2v+4z = L. 57 BYE g ¥ R & 8

 A#3.u=10

5 A=3u=10

3, A=3 p=10

4. None of the above/ G@Tﬂﬁﬁ?ﬁﬁ:@'

Correct Answer :-

A=3 u=10

86) The equation 12x2 - 2y2 - 622 - 2xy - 8yz + 6zx = 0 represents: /JHHII 12x2 - 2y2 - 622 -
2xy - 8yz + 6zx = 0 TP P fefua Bl gl

1. A pair of straight lines/ I3d &1l H1gH
2. A pair of planes/ JHdd ®TYIH

3.A sphere/TnFIT
4. None of these/3TH I 15 Al

Correct Answer :-

e A pair of planes/ JHdd H®TYH

87) £ _ ¥m3x+2 £ _ ¥-3x42
Range of the function () ="s iseywem 1) = e wroRER R
1.R-[1]
R [1 1]
2. 5’
3.R

4. None of these/3H A HIs !

Correct Answer :-

88) What is the equation of the locus of a point which moves such that 4 times its distance from
the x-axis is the square of its distance from the origin:/ 39 fa~g &1 faguy WY 39 UHR THA Har

2 o oot © o A gh, RS A S AR TAEL, &-

1 x? =yt 4y =0

s ;r: —4|_j'|= 0

2.



3 x?=p? —4x =0

x° —;r: —-l|x| =1

4.

Correct Answer :-

o ;r: —4|_j'|= 0

89) PR PR
l %’&' _l - — dx
The value of g +e 7 is / P 7 muﬂ%
1. 74
2. ® {2
3.6
4. "

-

90) The area bounded by *' =" +2x+3 ey = is:/) V=1 =2x=3 i =0 T uRas & 31

QW%:
1. 32

91) A G.P. consists of an even number of terms. If the sum of all the terms is
5 times the sum of the terms occupying odd places, then the common ratio

will be equal to:/ T TUN<R Juft & uct Ft Wem Iu g1 afe gt usl &1 A e faww
W 9Tl Ul & Q% P15 TAT 2, o) Hrd-3urd gh:

1.2



2.3
3.4

4.5

Correct Answer :-

e 4
92) o sme—cosf§=l[4—3(x:—1j ] i )
If SINU-COSC =X. then 4 for:/tlﬁ AN EF-CcosfF=x ;ﬁ
5 5 1
sin” F+cos” F=—[4-3{x" -1)
- F+cos F 4[ HxT -0 ¥

4. None of the above/ IWRiad & A BIs gl

Correct Answer :-

x =12

93) AB is a vertical pole resting at the end A on the level ground. P is a point on the level ground
such that AP = 3 AB. If C is the mid-point of AB and CB subtends an angle B at P, the value of
tan 7 is:/ 4B ug SHeafer TWT 2 o gt W 4 R @1 ¥ 7t Weg W UF o g P s UeR @
fp 4P=343 qafy Berawafg C fwd & P w £ s saRaswar g, @ =P mram &

13
1, 19

a

2. 18

!
3. &
4. None of the above/ SWRiad & J HIs gl

Correct Answer :-

94) Two fixed points are %% and #-%%) 1§ £4-28=2. then the locus of point C of triangle

ABC will be:/ @ RR farg 20 qur 20020 g afy <4-<5=7. § 243C Ffyg € 1 frguy g



eyt L 2otanf=al
1 o o

-yt S2otanf=al
2 o o

1=yt =y cotf=a’
3 o o
4, X -7 +Mycotf=a

Correct Answer :-

Xt -y =ycotf=a’

95) 1p cd@xb)=BE=)=7(E*@) =0 414 at least one of the numbers o B and " is non-zero, then

the vectors - and ¢ are jafy @b =foxt)=y(exD) =0 qpo Pe/Aidsndoaoe a3,
arafem 24,6 &
1. Perpendicular/ d+dd

‘
o

2. Parallel/ JHTR
3. Coplanar /qHaag

4. None of the above/ SWRiad & A BIs gl

Correct Answer :-

« Coplanar /gHdad

96) Unit vectors %7 and ¢ are coplanar. A unit vector = is perpendicular to them. If
- 1=

_ _ 1
(axdy{txd)=—i-——j+-k _
L A L A | > . N -

3" 3 and the angle between Z and ? is 30°, then ¢ is:/ dIF SIS AfGRT
1- 1- 1=

- - (Gudlm(Exdl=—i-—j+=k

2.5 3R ¢ wHadt § 7T TP TS oW < % wvaaq §1 A § 33 gna
Td P FdaBTHIUIZ0°E, @ ¢ &

(i -2j+2k)
1 3

Qi+j-h
2 3

(i +2j+12k)
3. 3

PEPENE PR

| g TR
4, 3

Correct Answer :-



Correct Answer :-

acsRb=2

B . s (2
T ak=log, (-2 (x D% b ——tanlx+ A4
If S x-lxe =1 |

-

| —

where A is any arbitrary constant, then
2x+3

S =Dt =

[ & 4 4]
dv=log 4 (x-1)2 @~ +1)® }—é tan~t x =4,
the value of ‘a’ is:/dfe |
i a’ ®THH &:

el A T W3 SRR T,

1.5/4
2.-5/3
3.5/3

4, -5/4

Correct Answer :-

. -5/4

99) v? =4,

Area inside the parabola between the lines *= % and * =4 is equal to:/WRaaq
V7= gy x=a 3R *=4a ¥ g RRT v B-

1. 1a°

2. 8a”

-
L

bl Rl



.
-
352

4. 3

Correct Answer :-

28 a”

° a

100) n
The value of

n-1 . -l
P o+1 P
71 H!—_Pr +H:_-P_r__
??[:’:—1 P_,. _’:—].P"_IJ

4 n-1 P.v—l _=:—1 Pv

Correct Answer :-

lp +rnip

r—1

r—1

" is equal to:/

BT HM 2



